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Autonomous Car Stability. Attemp_ted by all candidates. Part (a) was bookwork, generally well
done. In part (b) quite a few candidates attempted a steady-state corering analysis when asked to
calculate the straight-line stability. Why?
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Linear creep equatio;zs and their a;)plication to simple vehicle dynamics: This question was
generally well done. A surprisingly large number of candidates got the wrong signs because

o = -8. In part (c), many students recommended the use of Cj; in car models, while (correctly)
ignoring it in Q1.
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Orbit parameters and GPS performance at North Pole: This was not a particularly popular
question, and few candidates were able to answer both parts well. There were several unusual
descriptions of the “First point of Aries’, and some candidates had difficulty with the final section of

part (b). Answers to part (c) were generally relevant and sensible.
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Perturbations in polar orbits: A straightforward question, which was generally well answered,
with the great majority of candidates correctly concluding that angular momentum is not conserved
in such an orbit. The final part yielded a variety of different numerical answers, mainly because
candidates failed to allow for the use of kilometres as a measure of distance in the data sheet.



